Subject: Re: IDLgrPlot Axis scaling bug?
Posted by Laurens on Fri, 01 Dec 2006 14:22:48 GMT

View Forum Message <> Reply to Message

Laurens wrote:
First of all; jezus, what **** s spamming this usefull newsgroup ??

Second, after my post about getting IDLgrPlot to work, the tips of david
and his example did get it to work as it should be, though thinking in

viewplane terms takes a bright moment ;)

Now the viewplane is going [-0.15, -0.15, 1.22, 1.22] while the scaling

with davids Normalize function just uses [0,0,1,1].

So, for the plot and the axisses, 0,0,1,1 is used, while the bigger

viewplane is needed for the axes to correctly be viewed, right?

Ok all done so far; tiny little problem now is that when the data is
scaled in a bit huge way (i guess), the text on the axes isn't readable
anymore; it just squeezes it up...

see http://sophorus.mine.nu/idigrplot_axis.jpg for an example of what |
mean. Appearantly, some part of the scaling process isn't going well |
guess?

With kind dutch regards :)

VVVVVVVVVVVVVVVVYVYVYVYV

Laurens

Actually, i was asking this in order to figure out something else which

i thought was the best way to proove the fact that there is in fact some
effort put into it ;) but since it might be just faster to ask directly

(and of course would put even more value in this newsgroup ;)) lets try
it directly:

in the above example, i want to follow the cursor with a red cross,
visible by lines drawn all over the plot (one horizontal, one vertical).

| managed to do this by adding two IDLgrPolyline objects to the model,
I've already fetched any movement of the cursor, but somehow - and it
makes me think it has to do with that resizing / scaling again - the
positions of the lines don't match the position of the cursor :(

Screenshot:
http://sophorus.mine.nu/IDLgrPolyline.jpg
Code:

self.xLine = Obj_New('IDLgrPolyline")
self.yLine = Obj_New('IDLgrPolyline’)

self.Model->Add, self.xLine
self.Model->Add, self.yLine
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self.xAxis->GetProperty, CRange=xrange
self.yAxis->GetProperty, CRange=yrange

xs = Normalize(xrange)
ys = Normalize(yrange)

self.xLine->SetProperty, XCoord_Conv=xs
self.yLine->SetProperty, YCoord_Conv=ys

scaledX = mean(event.x) ;what scaling to use?
scaledY = mean(event.y)

self.xLine->SetProperty, Color=[255,0,0], Thick=1, DATA=[[scaledX, O,
0], [scaledX, 100, 0]]

self.yLine->SetProperty, Color=[255,0,0], Thick=1, DATA=[[0, scaledY,
0], [100, scaledY, 0]]

self->Draw

| assume i'm just not thinking the right way (one again :)), someone
that could point me in the right way?

Thnx in advance...again ;)

Laurens
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